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Write Y
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Write X
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      ...

void foo() {

   barrier();
   for (i=0; i<n; i++) {

      barrier();
   }
   ...
   barrier();
}





Z = 1
}
   y = x + 1
if (foo()) {
y = 2
x = X

if (foo()) {
y = 2

   sync_ctr(ctr1);
   y = x + 1;

sync_ctr(ctr1);
z = 1

}

Source code Target code

get_ctr(&x, &X, ctr1)
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barrier

Get  X

Put  X

Get  X barrier
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Put  X

Post  F

Wait  F

Get  X

Get  X



x1 = X

x2 = X

tmp = x1 = X

x2 = tmp

Value Reuse

X = x2
X = x2

X = x1

Write-back

X = tmp = x1

x2 = tmp

X = x1

x2 = X

Value Propogation

Unoptimized

Pipelined communication

One-way communication
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